Midterm Exam Secuonuame  f v¢ o s PN

Please read all directions with care.
There are no trick questions, and the directions are meant to help.

* You have 70 minutes (2 pm — 3:10 pm).

* There are 6 questions. Budget extra time for question 5.

* You can leave as soon as you finish, but come back at 3 :20 for
* Please write all your answers on the exam itself.

* The rules you need are in an Appendix on the last pages. You can tear
* For scratch paper, you can use the last few sheets of the exam. You can tear tl

the second half of class.

these off.
vese off.

0 1. Word formation rules and inflection

These are Persian data. All of them have the present tense prefix mi- and the first person

singular ending -am. Please note that ‘a’ and ‘a’ are different sounds.

milresfim ‘[ arrive’

miresanam ‘I deliver’

mixabam ‘1 sleep’

mixabanam ‘I put (someone) to sleep’
migardam ‘[ turn around’
migardanam ‘[ turn (something)’
mixoram ‘I eat’

mixoranam ‘] feed’

mitarsam ‘I fear’

mitarsanam ‘1 make (someone) fear’

Assume that Persian has these rules, which we are giving you for free:

Present Tense Marking
Prefix mi- if [Tense:Present].

1st Singular Marking
Suffix -am if [Person:1, Number:Sing]

e derivational affix that is present. Be sure to

(1a) Write a rule of word formation for th
and the parts of speech involved, as taught in the

include the affix itself, the change in meaning,
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(1b) Multiple choice. What ordering must be assl
Singular Marking?
I 4

Rule in (a) comes first —

Ist Singular Marking comes first 2 .
17 Explain your answer ba
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(Ic) Why is this ordering expected in linguistic theory in ge
on a principle taught in the course.
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2. Word formation rules and derivations

. . . B Accolt “like a cuitarist’
The word semi-guitarist is ambiguous. Meaning (a): “a person who is sort of lljl\t., 1 L.m -
(because, for example, plays very poorly). Meaning (b): “a person who plays an instrume ¢

doesn’t quite count as a guitar”,
Before formulating your answer, first study these sample data:

semi-circle “that which is only half of a circle’

semi-conductor “that which is not quite a conductor’
semi-pro ‘someone who works at something but not as a full-time job’
semi-desert ‘a region that is dry but not a dry as a desert’

oboeist ‘someone who plays the oboe’

saxophonist ‘someone who plays the saxophone’

violinist ‘someone who plays the violin’
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(2b) Using the format taught in class, give morphological derivations for each of the tw
meanings of semi-guitarist.

1. Meaning: “a person who is sort of like a guitarist”
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il. Meaning: ““a person who plays an instrument that doesn’t quite count as a guitar .
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3. Using subscript digits in morphological rules
"’\ Here are singulars and their corresponding plurals for an imaginary language.
Singular  Plural Gloss
talo talapd ‘eagle’
miru mirupu / ‘magistrate’
liko likgpo! ‘act of random kindness’
soremu soremypu/ ‘freckle’
vaka vakapa) ‘grain of sand’
zube zubepe' ‘papyrus scroll’
torimapa  torimapapa | ‘capybara’

Write a ruh? that can derive plurals in the following imaginary language, using the subscript
notation ta.aught in class. You may assume that the morphosyntactic representations of the
language include the feature [Number: singular, plural]. Give your rule a name.
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. Parsing

(4a) Consider this NP:
Alice and John's mother’s brother

Provide three different syntactic parses of this exp
is a set of phrase structure rules at the end of this exam.
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(4b) Alice rakes the twigs and leaves.

b Provide a parse for each meaning of Alice rakes the twigs and leaves. You can find all the
phrase structure rules in the Appendix at the end of the test.

1. Meaning: “... then she puts the twigs and leaves into big plastic bags™
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ii. Meaning;: ... I assume she’ll be back some day, perhaps bringing the twigs with her.”
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5. Phrase structure rules in a new language

Here is a batch of sentences in a made up language.
Please note:

i. There is no case in this language.
ii. “fon fon” in sentence (i) is not a typo.

(5a) Parse each sentence (you can put the parse on top of the printed versio; _
copying the sentence over.) P P version, rather than
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i. Parlta al reyu. Vv
spoke  the king
*The king spoke’
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ii. Al ministeru  tsu parita un reyu.
the  minister to spoke a king

‘A king spoke to the minister’
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iii. Parlta al  reyu Anglia fon.

4

. spoke  the king  England. of
‘ ‘ “The king of England spoke.’
s
. /\ \‘
o | Y
L S A
iv. Anglia fon parlta  al reyu,
England of spoke the king
“The king spake of England.’
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V. Vorti smikel fon  parlta  un ministeru.
words flattery of spoke a minister
‘A minister spoke words of flattery.’
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vi. Al reyu tsu.  in vorti  parlta un  ministeru
the: king 1o these words  spoke a minister

‘A minister spoke these words to the king’
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viii. Al mesa sur est un klefo al stat tsu.
the table on is a key the city to
‘A key to the city is on the table’
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ix. Karabta al komputor al reyu Anglia fon fon.
broke the computer  the king  England of of

*The king of England’s computer broke.’

(5b) Write a simple set of phrase structure rules that can derive all of the sentences above.
Your answer should contain at least rules for S, NP, VP, and PP.
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iitM=s, ~ 6. Case

)= Pseudo-English is like Engli ; o .
ike English but has a richer case system. This includes a Nominative -1,

an Accusative - e 3 . . rolich as
sative -um. a Dative -i, and a Genitive -is. There is no 's morpheme in pseudo-English as

in real English.

sh. For simplicity. all the

The problem is based on the following sentences of Pseudo-Engli . ‘
ry names of English. like

noun o .
- ”p hrases a.re singular. You may assume that the names are ordina
Bill” and “Alice”

Billuy gave Sharoni a bookum.

Jackusitold Bessi the truthum.

Susanis catuspte the mousum.

A bookus of verseiysoothes the mindum.

The kingus of Englandi rules the landum.

The committeeus awarded the kingis assistenti a medalum.
Johnus pwarded a medalum to the kingis dogi.

A guidus to UCLAI was sold to the studenti.

Fredug went to the big museumi.

Arthurus believes that Alexanderus partook of the soupi.
The sizeus of the buildingis stairwayi impressed Fredum.
. Fredus read a guidum to the fieldi of linguisticsi.

m. Saraus paid attentionum to the sizei of the buildingi.

n. The kingis of Englandi hatugis made of felti.
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(6a) This question is partly multiple choice and partly fill-in-the-blanks.

Nominative case is attached to (cirgle one: the rightmost word or @. v
of (fill in the blank) _ e\ né .

(6b) What sentence or sentences tell you the correct answer to “(the rightmost word or(énle
head)” in the previous question? -

S
(arenc D,E,\'\.K v ‘u,/ \
‘ .O"
. : el - 7 i 4

o - v

: B / : (? 3 J,f"\
U VAR \iw f‘: ‘:M .
A pevs o vesd D RS

L—z(r*



